
 
 

Find a closed form: 

𝐈 = ∫
𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒙 + 𝟐)𝟐(𝒙 + 𝟑)𝟑
𝒅𝒙                  

∞

𝟎

 

 
Proposed by Ankush Kumar Parcha-India 

Solution by Alireza Askari-Iran 
 

𝐈 = ∫
𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)𝟐

∞

𝟎

𝒅𝒙 −
𝟓

𝟒
∫

𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟑)𝟐
𝒅𝒙 +

𝟗

𝟒

∞

𝟎

∫
𝒙𝒍𝒏(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒙 + 𝟐)(𝒙 + 𝟑)

∞

𝟎

𝒅𝒙

+
𝟏𝟎

𝟒
∫

𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒙 + 𝟐)(𝒙 + 𝟑)

∞

𝟎

𝒅𝒙 =  𝑨 + 𝑩 + 𝑪 + 𝑫 + 𝑾       

-------------------------------------------------------------------------------------------------------------------
----------------------- 

𝑾 + 𝑫 =
𝟗

𝟒
∫

𝐥𝐧(𝒙 + 𝟏) 𝒙

(𝒙 + 𝟏)(𝒙 + 𝟐)(𝒙 + 𝟑)
𝒅𝒙

∞

𝟎

+
𝟏𝟎

𝟒
∫

𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒙 + 𝟐)(𝒙 + 𝟑)
𝒅𝒙 =⏟

𝒙+𝟐→𝒙

− 𝟐 ∫
𝐥𝐧(𝒙 − 𝟏)

𝒙(𝒙𝟐 − 𝟏)

∞

𝟐

∞

𝟎

𝒅𝒙

+
𝟗

𝟒
∫

𝐥𝐧(𝒙 − 𝟏)

𝒙𝟐 − 𝟏

∞

𝟐

𝒅𝒙 = 

 

𝐱 →
𝟏

𝒙
= −𝟐 ∫

𝒙𝒍𝒏(𝟏 − 𝒙)

𝟏 − 𝒙𝟐

𝟏

𝟐

𝟎

𝒅𝒙 +
𝟗

𝟒
∫

𝐥𝐧(𝟏 − 𝒙)

𝟏 − 𝒙𝟐

𝟏

𝟐

𝟎

𝒅𝒙 +
𝟗

𝟒
∫

(𝒙 − 𝟏)𝒍𝒏(𝒙)

𝟏 − 𝒙𝟐

𝟏

𝟐

𝟎

𝒅𝒙

−
𝟏

𝟒
∫

 𝒙 𝐥𝐧(𝒙)

𝟏 − 𝒙𝟐

𝟏

𝟐

𝟎

𝒅𝒙 = 𝚽 + 𝚼 + 𝚿 + 𝚲 = 𝑾 + 𝑫 

 

𝚽 = −𝟐 ∫
𝒙𝒍𝒏(𝟏 − 𝒙)

𝟏 − 𝒙𝟐
𝒅𝒙 =⏟

𝑰𝑩𝑷

𝟏

𝟐

𝟎

− 𝟐 𝐥𝐧(𝟐) 𝐥𝐧 (
𝟑

𝟒
) + ∫

𝐥𝐧(𝟏 − 𝒙𝟐)

𝟏 − 𝒙
𝒅𝒙 = −𝟐 𝐥𝐧(𝟐) 𝐥𝐧 (

𝟑

𝟒
)

𝟏

𝟐

𝟎

+ ∫
𝐥𝐧(𝟏 − 𝒙)

𝟏 − 𝒙
𝒅𝒙 + ∫

𝐥𝐧(𝟏 + 𝒙)

𝟏 − 𝒙

𝟏

𝟐

𝟎

𝟏

𝟐

𝟎

𝒅𝒙 = −𝟐 𝐥𝐧(𝟐) 𝐥𝐧 (
𝟑

𝟒
) −

𝐥𝐧(𝟐)𝟐

𝟐
+ 𝑷 → 

 

𝑷 = ∫
𝒍𝒏(𝟏 + 𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏/𝟐

𝟎

=⏟
𝟏−𝒙→𝒙

∫
𝐥𝐧 (𝟐 − 𝒙)

𝒙

𝟏

𝟏/𝟐

𝒅𝒙 = 𝐥𝐧(𝟐) ∫
𝐥𝐧 (𝟏 −

𝒙

𝟐
)

𝒙

𝟏

𝟏

𝟐

𝒅𝒙

= (𝐥𝐧(𝟐))𝟐 − ∑
𝟏

𝒏𝟐𝒏

∞

𝒏=𝟏

∫ 𝒙𝒏−𝟏
𝟏

𝟏

𝟐

𝒅𝒙 = 𝐥𝐧(𝟐))𝟐 − ∑
(

𝟏

𝟐
)

𝒏

𝒏𝟐
+ ∑

(
𝟏

𝟒
)

𝒏

𝒏𝟐

∞

𝒏=𝟏

∞

𝒏=𝟏

= 



 

=(𝐥𝐧𝟐)𝟐 − 𝑳𝒊𝟐 (
𝟏

𝟐
) + 𝑳𝒊𝟐 (

𝟏

𝟒
) →  𝚽 = − 𝐥𝐧(𝟐) 𝐥𝐧(𝟑) + 𝟑 𝐥𝐧(𝟐)𝟐 + 𝑳𝒊𝟐 (

𝟏

𝟒
) −

𝝅𝟐

𝟏𝟐
             𝒏𝒐𝒕𝒆: 𝑳𝒊𝟐 (

𝟏

𝟐
) =

𝝅𝟐

𝟏𝟐
−

(𝒍𝒏𝟐)𝟐

𝟐
 

 

𝚼 =
𝟗

𝟒
∫

𝐥𝐧 (𝟏 − 𝒙)

𝟏 − 𝒙𝟐

𝟏/𝟐

𝟎

𝒅𝒙

=
𝟗

𝟖
∫

𝐥𝐧 (𝟏 − 𝒙)

𝟏 − 𝒙
𝒅𝒙 +

𝟗

𝟖
∫

𝐥𝐧 (𝟏 − 𝒙)

𝟏 + 𝒙

𝟏/𝟐

𝟎

𝒅𝒙 = 
𝟏/𝟐

𝟎

−
𝟗

𝟏𝟔
(𝒍𝒏𝟐)𝟐 +

𝟗 𝐥𝐧(𝟐)

𝟑𝟐
∑

(
𝟏

𝟒
)

𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

−
𝟗

𝟏𝟔
∑

(𝟏 − (
𝟏

𝟐
)

𝒏+𝟏
)

𝟐𝒏(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

 

→    𝚼 =
𝟗

𝟖
𝐥𝐧(𝟐) 𝐥𝐧(𝟑) +

𝟗

𝟒
(𝒍𝒏𝟐)𝟐 −

𝟗𝝅𝟐

𝟗𝟔
+

𝟗

𝟖
𝑳𝒊𝟐(

𝟏

𝟒
) 

 

𝚲 =
−𝟏

𝟒
∫

𝒙𝒍𝒏(𝒙)

𝟏 − 𝒙𝟐

𝟏

𝟐

𝟎

𝒅𝒙

=
−𝟏

𝟒
∑ ∫ 𝒙𝟐𝒏+𝟏 𝐥𝐧(𝒙) 𝒅𝒙 =⏟

𝑰𝑩𝑷

 

𝟏

𝟐

𝟎

∞

𝒏=𝟎

𝐥𝐧(𝟐)

𝟖
∑

𝟏

𝟒𝒏+𝟏(𝒏 + 𝟏)

∞

𝒏=𝟎

+
𝟏

𝟒
∑

𝟏

𝟐𝒏 + 𝟐

∞

𝒏=𝟎

∫ 𝒙𝟐𝒏+𝟏𝒅𝒙 =
𝟏

𝟏𝟔

𝟏

𝟐

𝟎

∑
𝟐𝒍𝒏𝟐(𝒏 + 𝟏) + 𝟏

𝟒𝒏+𝟏(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

= 

𝚲 =
− 𝐥𝐧(𝟐) 𝐥𝐧 (𝟑)

𝟖
+

(𝐥𝐧𝟐)𝟐

𝟒
+

𝟏

𝟏𝟔
𝑳𝒊𝟐(

𝟏

𝟒
) 

 

𝚿 =
𝟗

𝟒
∫

(𝒙 − 𝟏)𝐥𝐧 (𝒙)

𝟏 − 𝒙𝟐

𝟏/𝟐

𝟎

𝒅𝒙

=
−𝟗

𝟒
∫

𝐥𝐧 (𝒙)

𝒙 + 𝟏

𝟏/𝟐

𝟎

𝒅𝒙 =⏟
𝑰𝑩𝑷

𝟗𝐥𝐧 (𝟐)

𝟖
∑

(−
𝟏

𝟐
)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

+
𝟗

𝟒
∑

(−𝟏)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

∫ 𝒙𝒏𝒅𝒙 = 
𝟏/𝟐

𝟎

𝟗𝐥𝐧 (𝟐)

𝟖
∑

(−
𝟏

𝟐
)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

+
𝟗

𝟖
∑

(−
𝟏

𝟐
)𝒏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

 

 

𝚿 =
𝟗 𝐥𝐧(𝟐) 𝐥𝐧 (𝟑)

𝟒
−

𝟗(𝐥𝐧𝟐)𝟐

𝟒
−

𝟗

𝟒
𝑳𝒊𝟐 (−

𝟏

𝟐
)

=
𝟗 𝐥𝐧(𝟐) 𝐥𝐧(𝟑)

𝟒
−

𝟐𝟕(𝒍𝒏𝟐)𝟐

𝟖
−

𝟗

𝟖
𝑳𝒊𝟐 (

𝟏

𝟒
) +

𝟗𝝅𝟐

𝟒𝟖
         𝒏𝒐𝒕𝒆: 𝑳𝒊𝟐(𝒛)

+ 𝑳𝒊𝟐(−𝒛) =
𝟏

𝟐
𝑳𝒊𝟐(𝒛𝟐) 

 



 

→ 𝑾 + 𝑫 = 𝚽 + 𝚼 + 𝚿 + 𝚲 =
𝟏𝟕

𝟖
(𝒍𝒏𝟐)𝟐 +

𝟏𝟕

𝟖
𝑳𝒊𝟐 (

𝟏

𝟒
) +

𝝅𝟐

𝟗𝟔
 

 

      𝑨 = − ∫
𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟐)𝟐
𝒅𝒙 =⏟

𝑰𝑩𝑷

∞

𝟎

∫
𝒅𝒙

(𝒙 + 𝟏)(𝒙 + 𝟐)
= 𝐥𝐧 (

𝒙 + 𝟏

𝒙 + 𝟐

∞

𝟎

]
∞

𝟎
= −𝐥𝐧 (𝟐)      

 

    𝑩 =
−𝟓

𝟒
∫

𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟑)𝟐
𝒅𝒙 =⏟

𝑰𝑩𝑷

∞

𝟎

−
𝟓

𝟒
∫

𝒅𝒙

(𝒙 + 𝟏)(𝒙 + 𝟑)

∞

𝟎

= −
𝟓

𝟖
𝐥𝐧 (

𝒙 + 𝟏

𝒙 + 𝟑
]

∞

𝟎
=

𝟓

𝟖
𝐥𝐧 (𝟑) 

 

𝑪 = ∫
𝐥𝐧 (𝒙 + 𝟏)

(𝒙 + 𝟑)𝟑

∞

𝟎

𝒅𝒙 =⏟
𝑰𝑩𝑷

−
𝟏

𝟒
∫

𝟏

(𝒙 + 𝟏)(𝒙 + 𝟑)𝟐

∞

𝟎

𝒅𝒙

=
−𝟏

𝟏𝟔
∫ (

𝟏

𝒙 + 𝟏

∞

𝟎

−
𝟏

𝒙 + 𝟑
)𝒅𝒙 +

𝟏

𝟖
∫

𝟏

(𝒙 + 𝟑)𝟐

∞

𝟎

𝒅𝒙

=
−𝟏

𝟏𝟔
𝐥𝐧 (

𝒙 + 𝟏

𝒙 + 𝟑
]

∞

𝟎
−

𝟏

𝟖(𝒙 + 𝟑)
]

∞

𝟎
= −

𝐥𝐧(𝟑)

𝟏𝟔
+

𝟏

𝟐𝟒
 

 

ANSWER: I=A+B+C+D+W=
𝟏𝟕

𝟏𝟔
𝑳𝒊𝟐 (

𝟏

𝟒
) +

𝝅𝟐

𝟗𝟔
+

𝟏𝟕

𝟖
(𝐥𝐧𝟐)𝟐 −

𝟏𝟏

𝟏𝟔
𝐥𝐧(𝟑) − 𝐥𝐧(𝟐) +

𝟏

𝟐𝟒
 

 
 


